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import openpyxl as excel

HO—2T7voERNTo—EF3 — (*1)
book = excel.load_workbook('/Users/ test100.xIsx’
sheet = book.active

# B TENDEEERTET - (*2)
fory inrange(2, 5):
r=[]
for x in range(2, 5):
v = sheet.cell(row=y, column=x).value
r.append(v)
print(r)
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import openpyx| as excel

#I—0TyoERMNT—NERYHT
book = excel.load_workbook('/Users/test100.xlsx’
sheet = book.active

# B TINDIEZFS
for row in sheet["B2":"D4"]:
r=[1

for cell in row:

r.append(cell.value) « {TE(Zt )L D EZrIZE N0

print(r)

import openpyxl as excel

#O—0T7vOERINT— /33
book = excel.load_workbook('/Users/ test100.xlsx’
sheet = book.active

# B TEINDIEERS
for row in sheet["B2":"D4"]:
print([c.value for c in row])
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import openpyxl as excel

#O—0T7yoERNTo—RERYET
book = excel.load_workbook('/Users/ test100.xIsx’
sheet = book.active

HATL—5ERiFTS - (*1)
it = sheet.iter_rows(
min_row=2, min_col=2,
max_row=4, max_col=4)
# forX TIEVRL1B%83 - (*2)
for row in it:
r=[1
for cell in row:
r.append(cell.value)

print(r)
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3 11A3B|A&A NFF 3 1,000 so0— =D3*E3DEFTE XN AOTLVS
4 11B5H|BE A %= 2 1,500 3,000
5 11858|CE A 453 2 2,000 4,000
6 11B7H|DX A NFF 8 1,000 8,000
T 118158 |BX A = 2 1,500 3,000
8 11816H|DE A = 5 2,000 10,000
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10
import openpyxl as excel import openpyx| s excel
G LET—8DTvoERMNT— ERYLT . .
book = excel.load_workbook("/Users/ uriage.xIsx,’ # FLT—5DTYIERNT—ERYLT
sheet = book.active { o ) bf?Okt= egcell(.loag_workbook("/Users/ uriage.xlsx,’, data_only=True}
sheet = book.active
#AIDPSFIDENERYIET - (*1) -
rows = sheet["A3":"F9" #A3DSFID I ERYLEHT - (*1)
for row in rovgs: ] rows = sheet["A3":"F9"] E‘l’%ﬁ,‘i%
# EINDEEZUINL TES - (*2) for row in rows: . . A < 'f
values = [ce_ll.value for cell in row] # it'/bai/’géﬁxﬁébf’ﬁ "'_“ (*2) 75\5_%75
#URNERTTS — (*3) values = [cell.value for cellin row]
rint(values N -
print( ) YILFDFEE print(values)
= 2= 4t ﬂ i%' N e e ﬂ
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[datetime.datetime(2022, 11, 3, 0, 0), 'AZA', '/NFF', 3, 1000, 'ED3*E3'] [datetime.datetime(2022, 11, 3, 0, 0), 'AZA, /337, 3, 1000 3000]
) [datetime.datetime(2022, 11, 5, 0, 0), 'BZA/', 'U>I", 2, 1500,|3000]
[datetime.datetime(2022, 11, 5, 0, 0), 'C&A', '4F3", 2, 2000, '+DS*ES'] [datetime.datetime(2022, 11, 5, 0, 0), 'CZA', '4FI", 2, 2000J 4000]
[datetime.datetime(2022, 11, 7, O, 0), 'DEA/, '/NF3, 8, 1000, '+D6*E6'] [datetime.datetime(2022, 11, 7, 0, 0), 'DZA, '/3+7, 8, 1000} 8000]
[datetime.datetime(2022, 11, 15, 0, 0), 'B&A/', 'U>yT", 2, 1500, =D7*E7"] [datetime.datetime(2022, 11, 15, 0, 0), 'B&A', 'U>I", 2, 1500, 3000]
[datetime.datetime(2022, 11, 16, O, 0), 'DZA', '4F3", 5, 2000, =D8*E8'] [datetime.datetime(2022, 11, 16, 0, 0), 'DEA', '4FI", 5, 2000, 10000]
[datetime.datetime(2022, 11, 20, 0, 0), 'EZA', '"*>rJ—", 3, 190Q, '=D9*E9’ [datetime.datetime(2022, 11, 20, 0, 0), 'EXA', '%>3—"', 3, 1900, 5700
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import openpyx| as excel

#I—07 o0& T— RS - (*1)
book = excel.load_workbook('/Users/ uriage_keisen.xIsx,’)

sheet = book.active

# B TN DIEER TER — (*2)
fory in range(3,|sheet.max_row):

r=[1

for x in range(1, 6):

v = sheet.cell(row=y,
r.append(v)

print(r)
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column=x).value

import openpyxl as excel

HELET—8DTvoEFNT— RV T
book = excel.load warkbhaook(

"/Users./uriage.xlsx", data_only=True)
sheet = book.acuve

# A3BEF999(7—5 Dili 4 7 #E B ) ERYH T - (*1)
rows = sheet["A3":"F999"]  FYLR TFTITETCHEHHEZIETE
for row in rows:
# I DIEFYRINEL TES - (*2)
values = [cell.value for cell in row]
#EHEN Téﬂ/i%[&iw’éﬁba;" (*3)
if values[0] is None: break = /=
#URNEETRTS gL EITHREE

print(values) ] ] .
% [datetime.datetime(2022, 11, 3, 0, 0), 'AZA', '/NFF', 3, 1000, 3000]

[datetime.datetime(2022, 11, 5, 0, 0), 'BZA/', 'U>I", 2, 1500, 3000]
[datetime.datetime(2022, 11, 5, 0, 0), 'CZA', '4F3", 2, 2000, 4000]
[datetime.datetime(2022, 11, 7, 0, 0), 'DZA/', '/3xF+7', 8, 1000, 8000]
[datetime.datetime(2022, 11, 15, 0, 0), 'BZA/', '"U>IT", 2, 1500, 3000]
[datetime.datetime(2022, 11, 16, 0, 0), 'DEA", '4F3", 5, 2000, 10000]
%{fﬁ-%ﬁ% [datetime.datetime(2022, 11, 20, 0, 0), 'EZA', 'v>>d—"', 3, 1900, 5700]

[datetime.datetime(2022, 11, 3, 0, 0), 'AZA', '/NF7F', 3, 1000]

[datetime.datetime(2022, 11, 5, O, 0), 'BZA/', 'V I", 2, 1500]

[datetime.datetime(2022, 11, 5, 0, 0), 'CZA', '4FI", 2, 2000]

[datetime.datetime(2022, 11, 7, 0, 0), 'DZA', '/NxF+7"', 8, 1000]

[datetime.datetime(2022, 11, 15, 0, 0), 'BZA/', '"U>3T", 2, 1500]

[datetime.datetime(2022, 11, 16, 0, 0), 'DEA', '4F3", 5, 2000]

[datetime.datetime(2022, 11, 20, 0, 0), 'EZA', 'v>d—", 3, 1900]
— [None, None, None, None, None]

[None, None, None, None, None]

[None, None, None, None, None]

[None, None, None, None, None]

[None, None, None, None, None]

[None, None, None, None, None]

[None, None, None, None, None]

[None, None, None, None, None]

[None, None, None, None, None]

[None, None, None, None, None]

— [None, None, None, None, None]



